Telephone: (02421) 31850

FAX: (070) 22668

31861



REF: CCH/T7 HOSPITAL MANAGEMENT BOARD CHITUNGWIZA CENTRAL HOSPITAL **P.O. BOX CZA 245** ZENGEZA

CHITUNGWIZA ZIMBABWE

All correspondences to be addressed to the Chief Medical Officer

18 December 2024

To: All Bidders

COMPETITIVE TENDER: CHIT/ LAB 31 /2024: CHITUNGWIZA CENTRAL HOSPITAL

After deliberating and considering the recommendations relating to the above Competitive Tender, Chitungwiza Central Hospital has in terms of the Public Procurement and Disposal of Public Assets Act [Chapter 22:23] section 50 as read with the Public Procurement and Disposal of Public Assets (General) Regulations Statutory Instrument 5 of 2018 section 30, awarded the Supply and Delivery of Laboratory Reagants & Consumables competitive bid as follows:

LOT A: BLOODBANK

	Item	Quantity	Unit Price US(\$)	Total Amount US(\$)	Company Awarded
1	Anti A Antisera- 10ml	20	7.00	140.00	Lumbz Enterprises (Pvt) Ltd t/a Smart Science Solutions
2	Anti AB Antisera- 10ml	40	8.00	320.00	Diamed (Pvt) Ltd
3	Anti B Antisera- 10ml	20	7.50	150.00	Diamed (Pvt) Ltd
4	Anti D Antisera- 10ml	30	10.50	315.00	Diamed (Pvt) Ltd
5	LISS- vial	20	4.50	90.00	Lumbz Enterprises (Pvt) Ltd t/a Smart Science Solutions

LOT B: SEROLOGY

344	Item	Quantity	Unit Price US(\$)	Total Amount US(\$)	Company Awarded
1	RPR -B/100T	6	28.00	168.00	Lumbz Enterprises (Pvt) Ltd t/a Smart Science Solutions
2	Rheumatoid factor -B/100T	10	28.00	280.00	Lumbz Enterprises (Pvt) Ltd t/a Smart Science Solutions

CHITUNGWIZA CENTRAL HOSPITAL DEPUTY DIRECTOR PROCUREMENT

1 8 DEC 2024

P.O. BOX CZA 245, CHITUNGWIZA

ZIMBABWE

						Lumbz Enterprises (Pvt) Ltd t/a
	3	CRP Kit-B/100T	15	30.00	450.00	Smart Science Solutions
	4	Hepatitis A-B/30T	6	60.00	360.00	Diamed (Pvt) Ltd
L	5	Hepatitis C-B/30T	6	30.00	180.00	Diamed (Pvt) Ltd
	6	Hepatitis B-B/30T	6	20.00	120.00	Diamed (Pvt) Ltd
	7	H Pylori-B/30T	3	38.47	115.41	Statpharm (Pvt) Ltd
						Lumbz Enterprises (Pvt) Ltd t/a
	8	ASOT-B/100T	5	32.00	160.00	Smart Science Solutions
	9	Pregnancy Test-B/30T	100	10.00	1,000.00	Healthpharm (Pvt) Ltd
	10	Blood Glucose Test Strip- B/30T	200	20.00	4,000.00	Healthpharm (Pvt) Ltd

LOT C: BACTERIOLOGY

	Item	Quantity	Unit Price US(\$)	Total Amount US(\$)	Company Awarded
1	Citrate Agar- 500g with indicator	1	90.00	90.00	Diamed (Pvt) Ltd
2	Dnase Agar- 500g	1	180.00	180.00	Julie Joy Enterprises t/a Beracah Health (Pvt) Ltd
3	Motility Agar-500g with indicator	1	115.00	115.00	Diamed (Pvt) Ltd
4	Urease Agar-500g with indicator	1	90.00	90.00	Diamed (Pvt) Ltd
5	Salt Mannitol Agar-500g with indicator	1	85.00	85.00	Diamed (Pvt) Ltd
6	Mueller Hinton-500g	2	85.00	170.00	Diamed (Pvt) Ltd
7	EMB Agar -500g	1	85.00	85.00	Diamed (Pvt) Ltd
8	Nutrient Agar -500g	1	75.00	75.00	Diamed (Pvt) Ltd
9	Petri Dishes- B/50	3	11.00	33.00	Lumbz Enterprises (Pvt) Ltd t/a Smart Science Solutions
10	India Ink- 250ml	1	20.00	20.00	Lumbz Enterprises (Pvt) Ltd t/a Smart Science Solutions
11	Sodium Chloride-500g	3	15.00	45.00	Lumbz Enterprises (Pvt) Ltd t/a Smart Science Solutions
12	Gram Stains- set	3	120.00	360.00	Julie Joy Enterprises t/a Beracah Health (Pvt) Ltd
13	Ciprofloxacin Sensitivity Drugs – 50T	2	20.00	40.00	Diamed (Pvt) Ltd
14	Azithromycin Sensitivity Drugs– 50T	2	20.00	40.00	Diamed (Pvt) Ltd

CHITUNGWIZA CENTRAL HOSPITAL DEPUTY DIRECTOR PROCUREMENT

1 8 DEC 2024

P.O. BOX CZA 245, CHITUNGWIZA ZIMBABWE

	Ceftriaxone Sensitivity				
15	Drugs – 50T	2	20.00	40.00	Diamed (Pvt) Ltd
	Penicillin G Sensitivity				
16	Drugs– 50T	2	20.00	40.00	Diamed (Pvt) Ltd
	Gentamycin Sensitivity				
17	Drugs- 50T	2	20.00	40.00	Diamed (Pvt) Ltd
	Meropenem Sensitivity				Julie Joy Enterprises t/a Beracah
18	Drugs- 50T	2	38.00	76.00	Health (Pvt) Ltd
	Erythromycin Sensitivity				
19	Drugs- 50T	2	20.00	40.00	Diamed (Pvt) Ltd
	Metronidazole Sensitivity				
20	Drugs- 50T	2	20.00	40.00	Diamed (Pvt) Ltd
	Cloxacillin Sensitivity				
21	Drugs-50T	2	20.00	40.00	Diamed (Pvt) Ltd
	Cotrimoxazole Sensitivity				
22	Drugs-50T	2	20.00	40.00	Diamed (Pvt) Ltd
	Doxycycline Sensitivity				
_23	Drugs-50T	2	20.00	40.00	Diamed (Pvt) Ltd

LOT D: CONSUMABLES

	Item	Quantity	Unit Price US(\$)	Total Amount US(\$)	Company Awarded
1	EDTA Tubes- P/100	120	9.00	1,080.00	Lumbz Enterprises (Pvt) Ltd t/a Smart Science Solutions
2	Fluoride Tubes- P/100	10	10.00	1,000.00	Lumbz Enterprises (Pvt) Ltd t/a Smart Science Solutions
3	Microscope Slides- P/50	120	3.00	360.00	Lumbz Enterprises (Pvt) Ltd t/a Smart Science Solutions
4	Urine Specimen Jars - 40ml, - P/500	6	80.00	480.00	Healthpharm (Pvt) Ltd
j	Serum Cups P/500	6	70.00	420.00	Julie Joy Enterprises t/a Beracah Health (Pvt) Ltd
6	ESR Cups	50	2.00	100.00	Healthpharm (Pvt) Ltd
7	Plastic Containers -5 Litres	50	1.50	75.00	Healthpharm (Pvt) Ltd
8	Plastic Containers -1 litre	100	1.50	150.00	Healthpharm (Pvt) Ltd
9	Plastic Containers -500ml	100	1.50	150.00	Healthpharm (Pvt) Ltd
10	Plastic Containers- 250ml	100	1.50	150.00	Healthpharm (Pvt) Ltd

CHITUNGWIZA CENTRAL HOSPITAL DEPUTY DIRECTOR PROCUREMENT

1 8 DEC 2024

P.O. BOX CZA 245, CHITUNGWIZA ZIMBABWE Accordingly in terms of the Public Procurement and Disposal of Public Assets Act [Chapter 22:23] section 55 (2a) as read with the Public Procurement and Disposal of Public Assets (General) Regulations Statutory Instrument 5 of 2018 section 33(2), we advise that those were the successful bidders.

However in terms of the same Act, other tenderers aggrieved by this decision have a right to appeal against the award by lodging a written notice with the Chief Medical Officer of Chitungwiza Central Hospital and Chief Executive Officer of Procurement Regulatory Authority of Zimbabwe (PRAZ) within fourteen (14) days from the notification date.

After the fourteen (14) day period if there is no challenge, winning bidders can proceed and enter into the necessary formal procuring contract with Chitungwiza Central Hospital.

CHITUNGWIZA CENTRAL HOSPITAL
DEPUTY DIRECTOR PROCUREMENT

1 8 DEC 2024

Mr T.D Murire

P.O. BOX CZA 245, CHITUNGWIZA
ZIMBABWE

Head, Procurement Management Unit

FOR: CHIEF MEDICAL OFFICER, CHITUNGWIZA CENTRAL HOSPITAL